TMS54E6 A

F5 B B SR AR
EILEOERLEFESZICONT (SI5E5A)

o 5 H AR A

x5 wHSF5 A (oFi 54 4 1) (B4 %5 H)

JI=R ) 0 1.49 £ (941 1. 52 {5 (7 fvr

R AR 1. 50 £ (2@ 9 fir) fE (9451 £ (740
4[H 1.31 & 1.32 4% 1.25 fiF

5 LB AR 1.30 & (eEZE 4 i) 1.32 & (3 f1) 1. 28 i (5 fi7)

EEIN

2 F 0.96 & 0.98 % 0.91 f%

e o IR SM5%1~3A B BSfAF1~3 A
j%%ﬁif o 2.0% (£E%13) 2.1% (10 fir)
T NS 2.6% — 2. 7%

1 BHIRAEER 1.50E (£EE L)

2o

1 XETAERL

B/ 48R
s

ELF@EHYE TERAEDZE, RASRBZXRBICER >THBLTLDSHOD, HED

BECOPBEIHAOND, U LFEABRICEASHZEICISHESIET HILEND

(%) 2

L3 A, )il
EHBBMKRAGE: 1.30 15

(%) 2F 0.961%, Al

(BE)AMRABEOHRE (AR

2.00

1.62 1%, f@H 1.84 1%

(£E% 4 1)

1195, f&H 1.59 %

1.80
1.60
1.40 — — S n . P — o . . .
1.20 e —e
1.00
R45 | 6 7 8 9 10 11 12| RS 2 3 4 5
=WE| 152 | 155 | 157 | 158 | 158 | 161 | 161 | 162 [ 159 | 155 | 150 | 149 | 1.50
—e—%E | 125 | 127 | 128 | 131 | 132 | 134 | 135 [ 136 | 135 | 134 | 1.32 | 132 [ 131
(ZORHH AT 81195

(BZIAMRABEROHR (FEH)

2.50

500 ERERT

1.50

1.00

0.50

0.00

HIO[ 11 ] 12113 | 14 | 15[ 16 [ 17[18 119120212223 |24125]|26)|27|28[29|30|R1| 2] 3| 4

E LR [0.60[0.59]|0.74{0.57|0.61|0.81(1.06{1.17[1.27|1.13[0.77|0.51{0.75(0.90/0.99(1.21]1.39(1.50| 1.65| 1.86{1.97|1.81{1.23|1.45|1.57
—_—% 0.50]0.49(0.62(0.56{0.56]0.69)|0.86/0.98|1.06{1.02(0.77]0.45|0.56|0.68(0.82(0.97(1.11]1.23|1.39|1.54(1.62(1.55]1.10{1.16]1.31
(kAT & 1L 8)R

2 SEEREEX (fTM551~3A) :2.0%
(%) 2F2.6%, A)I12.3%, @H1.7%

(£E 13 1)



